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1 list5.1

総合情報処理センターのMadlabで「maple()」ができないのでできません

2 list5.2
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3 問題5.1

3.1 問題 5.1(1)

x(nT ) = δ(nT ) + δ(nT − 2T ) + δ(nT − 4)より

X(z) =
∞∑

n=−0

x(nT )z−n = 1 + z−2 + z−4

4 問題5.2

x(nT ) =
n∑

p=0

p∑
q=0

h1(qT )h2(pT − qT )h1(nT − pT )

x(nT ) =
∞∑

p=0

∞∑
q=0

h1(qT )h2(pT − qT )u(pT − qT )h1(nT − pT )u(nT − pT )

z[hi] =
∞∑

n=0

h(nT )z−n = Hi(z)なので

z[x(nT )] = H1(z)H2(z)H3(z)

5 問題5.3

5.1 問題 5.3(3)

X(z) =
3

3 − z−1
=

1
3 − 1

3z−1

z[an] = 1
1−az−1 より x(nT ) =

(
1
3

)n

5.2 問題 5.3(5)

X(z) =
1 − z−4

1 − z−1
= z0 + z−1 + z−2 + z−3

z[δnT ] = 1より x(nT ) = δ(nT ) + δ(nT − T ) + δ(nT − 2T ) + δ(nT − 3T )

5.3 問題 5.3(7)

X(z) =
z−1

1 − 2z−1 + z−2
=

z−1

(1 − z−1)2

z[nu(nT )] =
z−1

(1 − z−1)2
より x(nT ) = nu(nT )
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6 問題5.4

7 問題5.4(4)
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8 問題5.4(6)
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9 問題5.4(7)
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